H & 0l & AHS B Ml A

od
i’
oF
uJ

) ()
AEIEIEEIEEEENEEE S SSEEE
4 | © | ® © | o ™ ™| — =1~
m_o << I RGIRY
E
E=)

4@ [N Ne) «©

ANEEIEE 2188 518 g g8 (8|88
Euﬁ%mm&%% SRR 8| S A = A o e

(o]
Likd
RIS

3l==|E|EIE BIEIE EIRIFIE BS5R8 S|Y8EBEEE EBB8S5E5EEEEEEREKER
ol
<
S

) I o o
x x X H._.JHH._.JH
3l 252 3 il
n

] e ST | A
=) G S q ¥ W e

_Ir > x X
3l o) COR A M_mm KT
T s 0 o % D38 - Kl
= 0H CLR 2 M ) = oK
- 3l 0 R ol A <+ 5 o o
= =| = SRR D8 O = I RD o]
o7 — o % MH T Koom s 3 = =< - = = = R0 =5
F 3|2 AIr w1 SRRz o K oo D ook 80 = = Ok ol ET
5 =Ir| Flslmwn || [y =8a |slzz M Rg Wsd ogss T EEPE =
> A ur{om w0 [ m M nE D e |F0|m 00 ROE g RO B oz MO0 = 80 I Wz = |30 &
= wuoﬁmme%m_xM sl W RHEMm (@t dWas T a0 @0 oRBNS|s Wliw(dHizn ™
_uo Wil o K =< |(=|s o <F =~ Ok pI|0F D)0 T Iy <0 T oA A0 OO0 gy O (3|0 KO
R A== A|Z2|2 R~|R|a|s K o - - ul= ov o3 & ® - oMo M B < R o= |= Khlmlan|= U0
. w|=<|o|=|= Olglz O |w|z|g © O —|= 00 00O y OO0 00 O|g|s Olalz|g O
X oblw || S Ko | = & e S| ° o | S
s ’ :

|
K0 | L0
o




SN S5
M S5s2Y
el SES MEELI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- AEdEl 29 7,284
ASLEU U claz 4,992
Sclitd =g 86,770 68,570 18,200
301 EtE NS 86,770 68,570 18,200
o7 8% -0 - H¥Es243 82,090 63,890 18,200
Os& Jle=E 400,000 x13F « 128 62,400
OSg &0l 400, 0002 * 13 +200% 10,400
OSg A +g
20,0003 x 132 *23|x 12043 6,240
ogtd =g 25,0002 61 *23] 3,050
4IE2d=S 4,680 4,680 0
OSH Stles=s 30,0003 13+ 120 & 4,680
A2 HAKIR 13,080 4,080 9,000
201 2egh=3| 9,000 0 9,000
03 A= &I 9,000 0 9,000
OZHA 2| 9,000
301 EtE N = 4,080 4,080
11 #AIMHIXIZE S 3,080 3,080
OEENEA XI&ES 20,0003 *50&H 1,000
OL2IHOIEZHE 20,0003 +25%H 500
OD|EFH AL 20,0002 +40 800
O01E(28) M=3l 60,000+ 13 780
14 IIEt2 83 1,000 1,000 0
Oso=AE 1,000
AXAEY 29 33,020 37,270 N4,250
201 ZBt=3hl 5,600 7,600 /2,000
01 AtR2te|HI 2,000 3,000 A1,000
OXXIAE Y 23] 2,000
2 S52g4l 3,600 3,600 0
OXAAESE 8522 & MAl
300,000 122 3,600
301 EtE NS 27,420 29,670 A2,250
11 dAMEBIXIZE S 6,000 8,250 N2,250
OXXIAEY KX B&=
20,0002 x25H 123 6,000
14 0Bt 2a3 21,420 21,420 0
OF BRI 2SI (ZAH])
35,0003 *91t = +68A| 2t 21,420
Mol & THEH 2+l 1,000 1,000 0
KHeh THet ol 1,000 1,000 0
oAt oy & =7 X2 1,000 1,000 0
201 er=23y| 1,000 1,000 0
01 AtR2t2|HI 1,000 1,000 0




SH: S5
2 Mol & i 2kl
el THoH AHLH Off 2 EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
||| os3=> =y axsz 1,000
HY2AEH(SES) 35,515 35,480 35
s Jl=44| 35,515 35,480 b
s5= Jl=ZH| 35,515 35,480 b
201 B2 AL| 2,975 2,900 75
01 ArR22lt| 2,975 2,900 75
OFRLNE 2R 25,0003 %119 2,975
202 Ot 21,000 21,000
01 =LHOBI 1,200 1,200
O=Udbl 1,200,000& 1,200
02 MY 19,800 19,800 0
O AN 150,000& x11H+ 123 19,800
203 PR =&H| 11,540 11,580 A40
01 J|22H AR FAY| 8,100 8,100 0
Ol REZY| 8,100
VEEP eS| 440 480 AL
OB AL ETY| 40,00021%112 440
M RA2IHRFALI 3,000 3,000 0
OFRAM2IHRFAHI 250,000 123 3,000




